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This question paper contains three sections.

@ 0o - 1 / SECTION - I
(moda#s) : 15) / (Marks : 15)

@) aggld 15 G2l0B|IBBHN HEDOODLI® k. 15x1=15

i) (euoBOFI@ OHISIEWBHOHIMAUDI@ MIMo AIWVI® SO0
ODEOVEETTINSIOT f)PIBIb.

(i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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1.  epdmellom EoEyRle] (IEROEBTMOE (IONVORISIM QjBiDlldeld)
BOUEMDNMAlBHOUETBUD MNUBIBHIOM].
(@R®00, enilg, oo, HAW@R)

In persons suffering from insulin - dependent diabetes, the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. Rlo 9SOM BHIETTIMIM@HIM EREIOED (IGICEIW HOTlIIal agmoeny
(Galoglleo 6210510, DPT, DPT -®@jo Galoglewo 621053mmimio, BCG)
The first vaccine injected into a just born baby is
(Oral polio, DPT, DPT and Oral polio, BCG)

3. (aaflemow aljaico@imod enicweals @oamsoadl. wondl

(06®me0oIW, eedmamy, @ollm@d, aflrilwd)

The endocrine gland related to the immune system is
(Thyroid, Thymus, Adrenal, Pineal)

4. RelEWldd HEI0E® Aleslom @adErmEMIod Reldmas] all0eemE) Aloym ol
(@RMYEMWo, eel@lamad, auisHnemdo, Oolessd.)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

5. dlis@ comar Als@l@d H0emea|simy.

(ueloEm@RCeslglmnio AlBIOEmeHOMESIBEIEIMo, nSeOEMmE@RCIHSIEIMmio E0SOH®D
eMsIHelgImio, AULIOOD QUM SIHEIEIMIo LBIOMIBHONWAMIBHI0, NSO
M Slasildlmio MandWaMleanio)

Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)
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GDOBEMOG(SOaNWI@ @DaNI0aIBIAMAETBOE @DUIId6Mo &2l Malleroay
BQLIDYD

(a006EROGIW, HOMEHEHOON G, mgﬂrgzﬂé]mg(rn BQUM, @oalrnomle eald)

In monotropa the special type of root which absorbs nourishment is the

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

@OSIOTIHHISIMN@®0, O l06TEIHEISHENM@MOR AUMI®IHHOS 600 AlBIRad Mleno
6-21Q)ImMy.

(ondlles (rildajanemo, aflal@ Mldqjanemo, ®YBI@ MldQianemo, (e loMm(aleawd
mldQjanemo.)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

@OYHOST DIBE AUNBUNWR ©alEWOWIIHHIM AUIMBETBRIOS Al wylmmoem’
(a0lello - 08MleRM, BoHMIRM - HOMISRM, HOHAOWRM - HOMSERM)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

@6 Vgld @AETIE almowldl @psaslldlanim]. e6mal@ @oserEllgias
@O QMO

(e1085Slds @oQo, S0BZ0GIH @oQo, MlEle: @oQo.)

Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

Q)0 odenianile: MVoWIHMETEEIOAIWI0 (aIWIMARISHAIW BOIMILIHO
QUOPETI® ©BORSIBHINM,.
(14-00, 15-%0, 16-00)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.
(14t group, 15t group, 161 group)
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06d aloelleom ©OBISIAINM HAICIUIHNINM].

(ag)LDEMOtd, agLOEMOWild: @oQo)
is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

QI8 olclodemmes QSN @O8HHIM §ale@IUlEnimMm &0}
Bald0eMMOeNY MBS .

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

@2)dem aogaiion afloss) ®elmddenym evils: @oaal @B,
(aflrunoaimo, @mioemo, enlelo, Miald3mMo)

The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

16aI00105-06Mle6)d aRElend momoeny

(£a105MaUy@ QI@IOM0, HOAUGH® VBT, HOAIBYE®OdBER0, 2 I0dW)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

B0 06QIBYEIWO0 BO GRI0A0 @RALIHMHdhAIaCIQ @S] HSOMIGAIIdhIEMIOUD
@Eilmy 213Q10 U adleninmy.

(H0MMOURIQO, OB LOBT, BREIBMIHUOD)

An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)
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89wo - II/SECTION - II

(mod#s) : 40)/ (Marks : 40)

&0laj:  age@Blalo BEIB E2I0BIETRRHE HBHOODLI® . 20x2=40
Note : Answer any twenty questions.
16. aloOMIQy MVIEIAUIEBMR Al@IMNI® Bodldlallo EREORIGIVI@ ®oHM®io Mmogo
HOMIM].  BOPOBISATIERNIILIES MOQETBRIOS GalEIOPI® .
(i)  2miayes sWI@ serle mloo mflel, #0a], ®allgimloo, alaf agarismseam
QI@POMOISIM]. OEIEOM @mOQo ag)(My alOWIOM.
(i) oywelloMwio BEMWIOSWI0 BN BIMIGAIOAIWE]. OEIeMm
M0Qo gy alOWIMM,.
The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.
(i)  The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.
(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.
17. gdfleos qmoes:ilse allay agomoselnsy ?
What is Genetic Engineering ?
18. ®oe¢ ®MIAlanMaIEaE Mo oMo ¢2oall @loemmsEw ¢.aldjoals]

B IDBE) b

(@MW, DMUMo, EAI0MIHHWD, alBleMOnUS ], HHRAIOAETBU)
i) (erow ooy (i) (@O0

(i) Sl @oQo (iv) aflgodlmyscd

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (i) Natural gas,

(iii) Citric acid, (iv) Vitamins
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DEOTIDIVLO d]0atBROBSHOY0 MICMVo dIOAMORIENBIEIMM BEOMEIBER6NT. Afld®m
AU@oo aflesle miaialjo O®:oaE MEOMAM & |0aHleWIdHHGIB milomyo
QU®OMVOQISIOMN]. 0T LIHHUEMETBID DB alOTTIBIHNIT COOMNETBRHOIBR-
QI@OGEMD ? @06LJEIE LOBIWOWA! ag)PIBkb.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.

ol(®EBWRD aldhd@B] ®AMISIEE MVYINBHRD HaleWIUIla) BOWEBUH @OSWOR-
SO0 )b
Copy the diagram and label the parts with the help of the clues given.

(i) OEem QUIHOWIOS EAGBINEBT HOeMIM. (MMl ag)My alO@IMM.

(i) 6@ @RHBEWIFYICO6M, EHODSIGMIEM. ag)M] AN CGaNIBEMIMIHOS
(aflaflesiomy.

(i) It is otherwise called supra renal gland.

(i) It secretes two hormones, namely aldosterone and cortisone.

®06¥ 6HOS)OHISER 2 N@OE® AUO.2] BINEIBWD BOSWIROQ SO

i)  ageroid (i) e@DdNO
Draw the given diagram and label the following parts.
(i) Exine (i) Tube nucleus
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00 lafleniaiom ewoglenim AlWEDI@ 65HemEl@ BosmIM Moel
@OMNIMHIEIMETBURD afe®mLJoo ?

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

B IEEDBIOM SOOEMSIO® f)PI® .

(i)  eoeniielld, agoemnealmy, aeanEniiemonm, @yl
(i) 0eIISiHWD, QUAIY eBhOMIES 6.2IMBlWISIEB:WD, HOS], M
Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(i) mountain goat, big horned sheep, grizzly bear, seal

alSldha 10OV @OBE) b
Al d2emoAl@Alo | alj0o®BReQ |SITEY aflovdegyalmiHecd
0OHMSRND @SRl
Qfln AR\ OIMEHR0Q @IOIW,
QU BB @Al (M(@0) S Rne ’
@Al @RS, (@l@ogladldd
QIBEIDQA.
(IO BHHOUDEBBUD dlwgoovaowy |
@)Y _— — @OUWIHDIBE REINI0 AIQIMETBEL0
Complete the table given below :
Excretory organ Disposed as Excretory products
\ . Nitrogenous waste products - Urea,
Kidneys Urine . . o
Uric acid, Creatinine etc.
Lungs Exhaled/Expired air |
Skin | Excess water and salts
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IV' CAREERINDIA

®Mdlenim afl@o AIQleilaeiss.

i) ofi@o A -dilelo, B -@flello $06MymM 2leIN@BHIOHM d)Clee)id:.

(i) agf)lalddno 0V 2IRIMETRWD H@ISONUOSI(EOMEMITV)WIOS 2IBIN@TIE alomio
QU@ROMNeQISIM] ?

Observe the diagram.

(i) Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

eI EDBEOE00R0W] MOQOR]SIM].

(i) &0 (IRPIAUMNDI@ @ (ol (HI@QOEN MSHHIME) ?
(i) ag®y iy oo pbeqglgea ?

Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?
(i) Which micro - organism is involved ?

®06¢ ®MMI5188010Q cwOodlaflde .
A B

(a) @oCoNOBEMOOSEAIld: i)  Qllostd

(b) @Cleoesails (i) ooy

() @idlesoesells (it) ol dd
( (

d) emdalw

Match the following :
A B

a).  Ammonotelic

iv)  alddlatd

i)  annelids

( (

(b)  Ureotelic (i) fish

(¢)  Uricotelic (i) mammal
(d) Nephridia (iv) birds
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®mM1gi8s HARLIEBH8 NAIVOW @(Slalld MIAIBHEIT BHuem v oeal
2 (@ NaDle6)id.

(adomd, alig], &I, @R, all@olod].)

Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

VINEOWIMIgs allaflw (Bod HRA HMWMEBURD RO ®OOHHWOEM  ?
(e@e®8slRllo MOeLRIEMO)

What are the various liquid biofuels for transportation ? (Any four)

malleeem euom@Be8®lo, MAfld:oemo 62190 HYIROE® EMOBIUHORWI0
8.210300lS] B2IDHE) Y.

@L(TDO@(E%&&:@ A B C

onalledlenoaiomal DD 2ela) £alesoglwo

Nl IQOEMA | £6)a0ERM | (aldhy@i QB0 | MDEIBERO

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy

UB1LI0820® EHAWMENBR ag)(M@ alel dlg)md QIdaueBRHE) Mol ciolenslwlad
@OSIEMMIMHISIQ VY RADY alBB®OEEEIOS Qfleaismanpino] HENSOQWmoNT.
oRe@IL0 EANS UEIRI0RI® EDMLMETBEINS CalO)OPIM k.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago. Name any two fossil fuels.

EuDemlM 2leiMo ag)(MIsRINT) ?

What is Brownian movement ?

[ Turn over
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20g moworem af 50g Reloml@ aldlaflofldleniamy. @O®AIMETIOM
@M lBMIHE]] LIOQMI@IOS LOUI® d:6eNBYallSIHe .

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

12.046 X 1072 600 @06MSHEILNER COORIHRIOS AGEINO HEMBHOE]d.
Calculate the number of moles in 12.046 x 10?2 atoms of copper.

A, B ag)amil ey enflen0isel@d oens moo @o@emstd quyell o fldleniomy. A -olengs

@oQo REIOTI@ ¢ 2IdHEMIORD BOUWlHmOT] MO@ED AfleaISleninMigg. ag)mo@ B

-ofloal @ogoe RaIE@ aljdepaowio allealsleaninmy

(i) A, B ol @ogemgldd ala] afllomes @egeamoeny ? aflaje & 06w @ogo
a®o6en’ ?

i) alla sioemm @o@simie allaje #islw @AETIMIe B0y ©32anemo afl®o
MN@IBRb.

Two acids “A” and ‘B” were kept in beakers. Acid ‘A’ undergoes partial dissociation in
water, whereas acid ‘B” undergoes complete dissociation in water.

(i)  Of the two acids “A” and ‘B’. Which is weak acid and which is strong acid ?
(i) Give one example for weak acid and strong acid.

BRWIOM allOODDSISEds.

(i) @eeezql @3 : HCI, HNO,, H,50,, HCOOH

(ii)  MHHOOMVEIUMBR®) : ABMO, GeNldESlowd Gruoawd, Aflrflnd, 1odadleonIug-
EMBURB6IICQOUIHHIM @OCONOETSIW.

Pick the odd one out :

(i) Inorganic acids : HCIl, HNO,, H,SO,, HCOOH

(i) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

®6)¥ alOQIMAIDI@ H®RIOENSEIBD @OIBTDLb.

i) EMBDODD BVOAUAGHMHORI0 (OMIMOW B0} @DUAGHMBHILIMI6N). D@ T
NS MYEIHETBUWD MO(@o @OS6TRIRN@le6I0M).

(i) 18-26@ QUONOTILISS DILIHEIEO] aOIRRINRM BhiSioenio ag)IMy alOWIMM.

Correct the mistakes, if any in the following statement.

(i)  Second period is a short period. It contains only two elements.
(i) Group 18 elements are called Halogen family.
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mlnamo : QYO OO OIMOE B0) alalaldg]l 6.almiiald(® o
HOEMEQSIOM.
B006mMo : @M HodeMo CeUMIldy Choa|d  Hodenieemdlon) alog]
IO S} ®OEN.

(a) aImamalie &HoreMale KEl®lo @RAL aldMialdo §-fmalmoen).

(b) lwamo BT ag)MIB BHOBeMo MHINAMETIN O lleng).

Assertion : A greenish layer appears on copper vessels, if left uncleaned.
Reason : Itis due to the formation of a layer of basic copper carbonate.
(a) Assertion and reason are correct and relevant to each other.

(b) Assertion is true but reason is not relevant to the assertion.

@000 BHSIHISIO® MVIHAIBOIMEBIMIT] o IdhMOQ] B lERIUSlHHINM 63d]

BH00dENIENMd MOWIBMAOW (A) -@IOS MMM @o C,H,0, ‘ag)omosm’. &

MoWBMo ag)LAEMIRIMOW] (al®] (I AUBOTISHIEMIOWD ME| MVINMLMER 0]

Moo (B) ©6N80dhiM).

i) A Bagmilaue® @ldlojcleid.

(i) OV (UIBHVWOS Eald AlOWd. MITWOR]S EOMVIVAHOEMO g LI

An organic compound (A) is widely used as a preservative in pickle and has a molecular

formula C,H,O,. This compound reacts with ethanol to form a sweet smelling

compound (B).

(i) Identify the compounds A and B.

(i) Name the process and write the corresponding chemical equation.

mlnamo (A) : QAIEHO @QAUAIW HIOTIdH DEMLAIOOD AMIaH)uoa] o Ts)]dd
HsOWIQlS @OIOGIH @OOAIQAIEBRIOS MOM  agf)SIHHOM
aIBQOUIlHHIM]. (£ @OMIMIB afl@ensud- (MRI))

®o06mo (R): 8o @(QIQI® HoTd METWAIOHED HalEIUIHNIMMIDILlo
Q8OO AUUSDMNOW 2f(@6BBUR ag)SiengIom qVoUlleninmy.

) (A) e®Qe (R) vodl@imoeny

b) (A) vdlo (R) O®RIMEN

c) (A), (R) enal oemsio eBQeY

d) (A) vo@l@oem), (A)-6@ (R)@omMidielleeidhQio ©-21Qymmy.

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

Reason (R) : By use of very intense magnetic field, very high resolution images can
be obtained.

a) (A) is incorrect and (R) is correct.

b) (A) is correct and (R) is incorrect.

c) Both (A) and (R) are incorrect.

d) (A) is correct and (R) supports (A).

a

(
(
(
(

[ Turn over
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41.

42.
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IV' CAREERINDIA

1 kg (30)momogs 60} Al 20m. §@E@TI@IIMMio ®ICYHE SIM,. O
MSIVGIM GUato @E® CAINEBI@ @@l o3@oiM]). @ReLRBMOTION MOQo
06mMd. (g =10 m/s? ag)OmMSIHeId:.)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

8210300 lS] C.oIBB6Idb.

BO(NEIBLD afladmo
(@) [oaaisy® eav@ @
(b) [gJu3 &5 @oLOAIO CV)lof @RSETTEY @ | =
(© |HMNBR10S MoEWoBMEINO (i) | — AW
(@) R iaflerowmes elalenow eaisdo | () [ ——(o)——
Match the following :

COMPONENTS SYMBOLS
(@) [An electric cell (1)
(b) |Plug key (or) switch (closed) (i) +,
(c) |A wire joint (iid) — AMW——
(d) |A resistor of resistance R (iv) 4<o)7
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ali@lallanid.
(i)  ©alogMayy@ Al@PMIO @ GRS AIQR aGBI@ HOAIGYW

(i) wamlodlao : ovdvREBlOR Mmalleoem emQ agEsldd mroeoodBeo

Fill in the blanks :
(i) Potential difference : Voltmeter ; then Current :

(i) Hydro power plant : Conventional source of energy ; then Solar energy :

MOY(B®OCAIIDDREOEMIG] ag)PI® .

Write about ocean thermal energy.

®06¢ Hoemlaflgied owal afl(®o agEEBEOMWIEM 680} @OAImAl Bdq|emo
(al@flenfloenimiensoHHME®M’ BHO6TSB6IM).

(a) @oaflenes ooy dHhenglallSla] dwow Euinll 2fl®o Al
(b) letBglns @loEmElH:WBHE) MPWIH6Mo ag)LI®d:.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.
M
c\ \F\> P

N

[ Turn over



IV' CAREERINDIA

6832 14

46. adgdlewElon apimeeG:rl@mno. — Alladleaid.

Define Fleming’s right hand rule.

47.  eeldmilalloiom 25 60v.0l @oaer@ies Qlml ORIMMie alj0d:ldd 20 6.0l @6
(l@lenlloniom® a@deq|siemimiealssldd  ealdmilan eanddn G300
Qf)(@@OHIMY ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

39wo - II1 / SECTION - III
(moda#s6) : 20) / (Marks : 20)

O0laf: () 0600 AfleonEmld mlimio 6o} 621060 @EETTNSIEY age®dslaljo
moal 3010BETRUWDRE) OBMOODLIWd:. 4x5=20

(i) 60600 ¢.oloa)OTIMio @R MmodHE) Allmo.
(ili) EOAUCYMOVISEDE oll(@6TBUD AU I:.
Note : (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.

(i) Draw diagrams wherever necessary.
ail@omo - I/PART -1
48. ilemges al@lme®® MaImIM] aleseiom.

(a) aIletBgles aldlmommies @oUlmodla:des) agmy (ldeguomoen MleaBudes)
MN@BOMISRD) ?

(b) - 2eIMIMWIOS VAWOW LlKHHMETBOS OMOBETNSIOT ) LI

There is a widespread outbreak of malaria in your area.
(@) Suggest some controlling measures to the local authorities concerned.

(b)  Write the symptoms for malaria.
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®06)9 OMIBIHHIM QUOHEIHUWD HAICWOUIl 2] eLeMUld alB@TIOBHEIdb.
(Me5g], alwomogd, @OASHEMITIAWTI®E0, HAMIERINVIHED, UROOMIQD),
B((13 MOAIAIMNO® @DAIAEMO 62 IQE BIMT TVoRHUEM BDIOEMETBUD
#H06miMy. pale® (1) agymmy alo@ymy. saloaiominie  (2)  moery
HOMIM @0 DNBlaHHO@TOM oRRAIIe allOCD HIMIM@INIQ 0Ol o

H31WI88 @M EBIM (B)  agmMi AlO®IM]. GRIORINO® OHMD

Vo (hMEMMES DALV ETIM’ (4) oM} alO®IM. QAUSOD
HSlHIOMm  DYBIAI0Q @RMHEIAICEMo AN G ot HH OB Mo
MVJHIBMIOSWI0 OalBI®RIETI@ Hoemymy. soalom  (5)
ag)(MalO@IMMY,

aReO®EIRl0 BRERDOOTTIRNRS MIUSIGHINDETRRINS CalOOPIM ..

Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively
called (1) . Theoutermostcover lying below theskulland  (2)  isdouble
thick and is called _ (3) . The middle covering is thin and vascularised and is
called (4) . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called

G .

Name any 5 types of nerve cells.

afleowo - II/PART - II

coUwies 6o l@aflen manoweomons alenfllzai@mmyaicslon caism
lludlee .

Describe the structure of a dicot seed with a neat diagram.

a0Al® VDO ag)MMORITY ?

a0dl® AM®O® (@l@loalyl goaldldd omalodlafldanealsoalm  emalmm-
eBeRA|Fl ag)LI® k.

What is Green Chemistry ?

Write the future products of Green Chemistry.

6832
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afledwo - III/PART - III
52.  @oemiaflomanitle) 80y alemaI@ afl(®@o M@HiM@IMNo] Mmoot aveh@alo,
@odlvalooiomlan omio ag @mPWITlE: Henslallsiemend agorialowgoo
@M @RWINIH: @OEMIMSIALITMO MVflde:dlofl5iens. @MW @emMIlaLOND@EYTed
ealgloa |S)OmaHR ag)emR0M006MAT (almOlHeid.
Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture about an atom. State the findings of modern
atomic theory.

53. 1860 0llad (Molasses) aflamy ag)Loemod 9@ alodlaflaeimaiiomaldl allaldleaid.
Explain the manufacturing of Ethanol from Molasses.

aileomo - IV/PART - IV

54. (a) MYSOM BMOOE® 2lelm Mldo MIAIEHIOHMOINY al@lmoem wldqQ).almo
@303, YO B1ch6)3.

(b) 2@ dlalwledlenima 10 kg, 15 kg aflmo Baly@omalie 10 ms~1, 5
ms~ 1 afl@o @YOoREICAUUNNYMIES PeNE) AUUNVBIHOHSENT. @OQ al®Maldo
dhISIMISIMY. Bisimygelmieuatio @l 4 ms™ 1, 9 ms™! (IeumeEmOnS
aleflenynmy. sigimsellan oo 2 &avenmoem. F, 8o, F, o dhensiallSlenid.

F, F

— <

‘m/s . 4m/s ‘9m/s

(@) Newton’s first law of motion gives a qualitative definition of force. Justify.

(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms ~! and 5 ms ™! respectively. They collide with each other.
After collision, they move with velocities 4 ms~1 and 9 ms ™! respectively. The
time of collision is 2's. Now calculate F; and F,.

Fl F2

— <

‘m/s I‘ 4m/s ‘9m/s

55.  #0¥.oldfleonl Mmeses (loalle) allaidlanid. 0 MM®BH8 ag)emem

al@landlH600 ?
State and explain the defects of Vision. How can these defects be rectified ?

10m/s

10 m/s
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